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(Question Paper with Explanation) 
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1. Find the next number in the series. 

 7, 9, 13, 21, 37, ? 

 (a) 57 (b) 55 

 (c) 69 (d) 63 

Ans :  (c) The series is as follows 

 

2. In domestic water sewage, which of the 

following things is not a part of 'Dissolved 

materials'? 

 (a) Nitrate (b) Phosphate  

 (c) Calcium (d) Sand  

 

Ans :  (d) Waste water produced due to human 

activities in household is called domestic waste water  

⇒ In domestic water waste nitrate, phosphate, calcium 

e.t.c part of decomposed matter , while sand is not a part 

of domestic waste water . 

3. A girl started to walk 2 km in North direction. 

She turned towards her right and walked 6 km 

and walked 3 km towards her left. Once again 

she took a left turn to walk 3 km before taking 

another left to walk 5 km. How far is she from 

the starting point? 

 (a) 7 km (b) 5 km 

 (c) 3 km (d) 4 km 

Ans :  (c)  

North

South

West East

Last pointStarting point

 

Desired distance (AG) · BC – DE = 6 – 3 = 3 km 

4. What nutrient deficiency causes goiter? 

 (a) Iodine  (b) Protein  

 (c) Calcium  (d) Carbohydrate 

Ans: (a) The most common cause of goiters is a lack of 

Iodine in the diet, goiter are caused by the change of 

thyroid function or factor that affect thyroid growth.  

⇒  Two hormone produced by the thyroid are thyroxin 

(T-4) and triodo thyronine (T-3), into the blood stream, 

they play many role in body. - 

• Conversion of food into energy. 

• Body temp. 

• Heart rate. 

• Blood pressure.  

• Growth during childhood.   

5. Dandiya is the traditional folk dance of ____. 

 (a) Sikkim  (b) Karnataka  

 (c) Gujarat  (d) Uttar Pradesh  

Ans :  (c)  State        -  Folk dance 

  Sikkim     -  Maruni, chhu-faat 

 Karnatak  -  yakshagan, kunita 

 Gujrat       -  dandiya , Garba 

           Uttar Pradesh  - Rasleela , nautanki, jhoola , kajri 

6. Which is the process of assigning specific 

duties? 

 (a) Coordination  (b) Supervision  

 (c) Communication  (d) Delegation  

Ans : (d) The process of assigning specific duties is 

called delegation, giving specific power and authority to 

a subordinate officer by a higher authority is called 

delegation or representation.  

7. Which structures act as wires of a telephone in 

the body? 

 (a) Muscles (b) Nerves  

 (c) Arteries (d) Veins   

Ans : (b) In body nerves structure act as wire of a 

telephone, nerves send electrical signal that help you 

feel sensation and move your muscles. Nerves also 

control body function like digestion food and 

maintaining your heart rate. Nerves are one of the 

functional part of our nervous system. 

• These signals control your voluntry movement, senses 

touch, pain, hot, cold, blood pressure, breathing, 

heartrate,     
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8. In India, which of the following states has the 

highest number of National Parks? 

 (a) Tamil Nadu  (b) Madhya Pradesh  

 (c) Tripura  (d) Punjab  

Ans :  (b) The largest number of national parks in India 

is located in the state of Madhya pradesh . There are a 

total 11 national parks in the state of Madhya pradesh. 

The following is - 

1. Kanha Kisli National Park 

2. Panna National Park 

3. Satpura National Park 

4. Bandhavgarh National Park 

5. Madhav National Park 

6. Pench National Park 

7. Fossil National Park 

8. Sanjay National Park 

9. Van Vihar National Park 

10. Omkareshwar National Park 

11. Dinosaur National Park   

9. What is the symbol of the element Gallium? 

 (a) Gl (b) Ga 

 (c) G (d) Gm 

Ans :  (b) Gallium is a chemical element with the 

symbol Ga and atomic number 31. Discovered by 

French chemist Paul-Emile Lecoq de Boisbaudran in 

1875 . Gallium is in group 13 of the periodic table and 

is similar to the other metals of the group .    

10. The establishment of personal relationship and 

affection takes place in the stage of group 

dynamics is termed as  

 (a) Performing  (b) Forming  

 (c) Norming  (d) Storming  

Ans :  (c)  The establishment of personal relationship 

and affection takes place in the stage of group dynamics 

is termed as norming.  

Norming - People feel part of the team and realise that 

they can achieve work if they accept other viewpoints.  

11. What are the immediate side effects of 

Electroconvulsive therapy? 

 (a) Temporary memory loss and confusion  

 (b) Fractured and dislocated bones  

 (c) Myocardial infarction and cardiac arrest  

 (d) Permanent memory loss and brain damage 

Ans :(a)  The immediate side effect of 

electroconvulsive therapy is - 

⇒ Temporarily loss of memory and delusions 

⇒ Hysteria  

⇒ Violent episode 

12. The real executive of the Indian government is  

 (a) The President  

 (b) The Prime Minister 

 (c) The Speaker  

 (d) The Vice President 

Ans : (b)   The prime minister of the republic of India 

is the head of the executive branch of the government of 

India .  

The union executive consists of the president and the 

council of ministers with the prime minister as the head 

to aid and advise the president. In India there are two 

heads-one is a nominal head of the state the president 

whereas one is the real executive head of the state-the 

prime minister.  

13. HML analysis means 

 (a) Heaping, Moulding and Lowering Estimates  

 (b) High Medium and Low Estimates  

 (c) Hierarchy, Moderate and Low Estimates  

 (d) High Medical Laboratory Inventory  

Ans :  (b) HML is involuntary control technique, whose 

full form is high medium and low estimates.  

ABC Analysis - Always Better Control 

VED Analysis - Vital, Essential, Desirable 

FSN Analysis - Fast, Slow moving and Non moving 

SDE Analysis - Scrares, Difficult, Easy 

14. Antipsychotic drugs are prescribed to decrease 

the psychotic symptoms by  

 (a) Depressing the central nervous system  

 (b) Inhibiting production of the enzyme 

Monoamine oxidase inhibitors  

 (c) Blocking the action of dopamine in the brain  

 (d) Blocking reuptake of norepinephrine and 

serotonin  

Ans :  (c) Antipsychotic drugs are also known as 

neuroleptic drugs, they are used to reduce psychotic 

symptoms by blocking the action of dopamine in the 

brain, these drugs also help regulate the functioning of 

brain circuits. that control thinking, mood and 

perception.  

15. Which AV block is also referred to as Mobitz-

II? 

 (a) Complete Heart block  

 (b) Second Degree AV Block  

 (c) Third Degree AV Block  

 (d) First Degree AV Block  

Ans :  (b) Mobitz type II is a type of 2
nd

 degree AV 

(Atrioventricular block) which refers to a cardiac 

arrhythmia that refelect a conduction block at the AV 

node. There are two type of second degree AV Block– 

Mobitz type I also known as Wenckebach and Mobitz 

type II . 
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16. Osmotic pressure and Acid-base balance of 

body fluids are maintained by  

 (a) Sodium  (b) Magnesium  

 (c) Fluorine  (d) Zinc  

Ans :  (a) The osmotic pressure and acid-base balance 

of the body fluid are maintained by sodium. It is 

necessary for blood pressure balance, lack of sodium in 

the body is called hyponatremia . 

⇒ Osmotic pressure can be described as the pressure of 

a water solution of salt exerted in either dirn against a 

semipermeable membrane.   

17. Which is the most suitable position for giving 

an enema? 

 (a) Right lateral position  

 (b) Lithotomy position  

 (c) Prone position  

 (d) Left lateral position  

Ans :  (d) Enema is the process of therapy under which 

the fluid is injected into the lower intestine through 

person Anus. The most common use of aenema is to 

leave the bowels before a medical examination or 

procedure the best position for giving enema is left side 

position one or two glass of water should be drink 

before starting the enema process, because as this 

process dehydrates.   

18. What is the SI unit of electric field strength? 

 (a) Henry/ coulomb  (b) Joules / Coulomb 

 (c) Coulomb/ Newton  (d) Newton/ Coulomb  

Ans :  (d)   The region around a charge or a charged 

body, where its effect can be felt , is called an electric 

field. Its SI unit is newton/coulomb. 

19. What is called the time required for the 

satellite to complete one rotation? 

 (a) Period of force  

 (b) Period of motion  

 (c) Period of Momentum  

 (d) Period of revolution  

Ans :  (d)   The time taken by the satellite to complete 

one rotation is called the period of revolution. Earth's 

rotation period is 365 days 6 hours 48 minutes and 

45.51 seconds.  

20. Which department issues PAN number? 

 (a) Financial affairs  (b) Revenue  

 (c) Income Tax  (d) Economic Affairs  

Ans :  (c) Pan number is issued by the Income Tax 

department under the supervision of the central board of 

direct taxes.  

Pan card is an electronic system in which all the tax-

related information of a person or company is recorded 

against a single pan number.  

Pan is a 10 digit unique alphanumeric number issued by 

the income tax department under the Indian income tax 

act 1961 .  

21. Which of the following is termed as the fetal 

blood vessel lying over the internal os, in front 

of the presenting part? 

 (a) Cord Prolapse  

 (b) Cord Presentation  

 (c) Occult Cord Prolapse 

  (d) Vasa previa  

Ans :  (d) The fetal blood vessel located above the 

Internal o.s In front of the baby's exit during delivery is 

called vasa previa is a complication that can occur 

pregnancy.  

Symptoms of vasa previa 

•  There are often no symptoms associated with vasa 

provia until labour start. Some women have painless 

Vaginal bleeding that dark in colour because baby blood 

does not have much oxygen in it as Adult. It appear 

darker.  

22. Facial palsy is also known as 

 (a) Erb's palsy  (b) Klumpke's palsy  

 (c) Bell's palsy  (d) Brachial palsy  

Ans :  (c) Bell's palsy is a condition in which the facial 

muscle on one side of the face become temporarily 

weak . It is the main cause of facial paralysis . It can 

also occur on both sides of the face. 

reason of bell's palsy - 

⇒ swelling and inflammation of the nerve. that controls 

the muscle on one side of the face. It could be caused by 

a reaction that occurs after a viral infection .   

23. An individual expressing his failures and 

difficulties by blaming others is known as  

 (a) Repression  (b) Projection  

 (c) Sublimation  (d) Denial  

Ans :  (b)  Projection , the mental process by which 

people attribute to others what is in their own minds. 

Projection helps justify unacceptable behavious and is 

the commonly used defense mechanism.  

Example - A man does not like another person . But he 

has a value that says he should like everyone. So he 

projects onto that person that he does not like him.  

24. In which condition the projectile vomiting is 

seen? 

 (a) Duodenal atresia  (b) Intussusception  

 (c) Megacolon  (d) Pyloric stenosis  

Ans: (d) Pyloric stenosis is an uncommon conditioning 

infarts that block food from entering that small intestine 

pyloric stenosis can lead to forceful vomiting, baby 

dehydration and weight loss babies with pyloric stenosis 

may seem to be hungry all the time  
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25. The maternal mortality ratio is expressed in 
tems of  

 (a) 1000 live births  (b) 100 live births  

 (c) 10000 live births  (d) 100000 live births  

Ans :  (d) The number of maternal death per 100000 
live births is called maternal mortality ratio, maternal 
mortality rate [MMR] of mother before or during or 
after child in all countries, improvement in health and 
safety is a key performance indicator for the effort of 
M.M.R According to World Health Organization 
[WHO]. 

26. A train passes a station platform in 65 seconds 
and a man standing on the platform in 49 
seconds. If the speed of the train is 29 m/s, what 
is the length of the platform? (meter)  

 (a) 484 (b) 494 

 (c) 464 (d) 474 

Ans :  (c)   Let the length of the train = x m. 

 29 = x/49     (Veloicity = distance/time) 

x = 29 × 49 = 1421m. 

If the length of the platform is y m. then  

1421 y
29

65

+
=  

1421 + y = 1885  

y = 1885 -1421 

  = 464 

27. Which drug is preferred in urinary and genital 
infections? 

 (a) Norfloxacin  (b) Pefloxacin  

 (c) Ofloxacin  (d) Ciprofloxacin  

Ans :  (c) Ofloxacin drug is preferred in urinary and 
genital infections. Ofloxacin drug belong to the class of 
drug as fluoroquinolone antibiotics. It work by killing 
bacteria or preventing their growth. However, this 
medicine will not work for cold , flu or other virus 
infection.  

28. The lack of oxygen in the tissue is called 

 (a) Anorexia  (b) Anoxia  

 (c) Cyanosis  (d) Hypoxia 

Ans :  (d) Low level of oxygen in body tissue is called 

hypoxia. it cause symptoms like confusion , 

restlessness, difficulty breathing , rapid heart rate and 

bluish skin  

Anorexia -  An eating disorder which a person is 

preoccupied with these appetite.  

Cyanosis - related to oxygen in which the skin lips, 

nails and the lower part of eye.  

Anoxia - The oxygen level are at zero, the condition is 

called anoxia. 

29. ____ is also known as Ascorbic acid. 

 (a) Vitamin E  (b) Vitamin C  

 (c) Vitamin D (d) Vitamin A 

Ans: (b) Ascorbic acid, also known as vitamin C is 
necessary for wound healing , It is needed for many 
function in the body , including helping the body use 

carbohydrate, fats and protein.  

30. Which is the basis of ABC analysis in inventory 

control? 

 (a) Criticality of items  

 (b) Annual consumption value  

 (c) Procurement difficulty of items  

 (d) Unit cost of items  

 

Ans :  (b)  ABC analysis an inventory management 
technique that determines the value of inventory items 
based on their importance to the business. 

Consumption value is the total value of an item 
consumed over a specified time period for example a 

year.   

31. Which one of the following is the process of 

urination resulting from voluntary and 

involuntary muscles? 

 (a) Micturition process  

 (b) Prostate process  

 (c) Kidney process  

 (d) Glomerular process  

Ans :  (a) Micturition is a process where urine is 
expolled from the body. Animals and human have a 
specialized system of organ known as the excretory 
system to eliminate the waste products from the body. 

Micturition is voluntary and involuntry both type.  

32. Which is not a therapeutic communication 

technique? 

 (a) Humour  (b) Informing  

 (c) Automatic response  (d) Reflection  

Ans :  (c) Automatic response is not a therapeutic 
communication. Therapeutic communication is a 
collection of techniques that prioritize the physical 
mental and emotional well-being of patients, humour, 
informing. Reflection are the technique of 

communication therapeutic .  

33. In which condition oral pills should not be 

given to a women? 

 (a) Vaginal infection  

 (b) Asthma  

 (c) Hypertension  

 (d) Menstrual problems  

Ans :  (c) Oral pills not to be given to women in 

hypertension. 

High blood Pressure is a common condition that affects 

the body arteries. It is also called hypertension. If 

human body have high blood pressure. The force of the 

blood pushing against the artery walls is consistently 

too high. The heart has to work harder to pump blood.    
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34. The Brodmann area number that corresponds 

to the primary visual cortex is __ 

 (a) Three (b) Seventeen  

 (c) Forty one (d) Four  

Ans :  (b) Brodman area number 17 corresponds to the 

primary visual cortex. It is also known as calcareous 

cortex, straight cortex or V1. 

This is the main area of the retina where input signals 

come from.   

35. By selling a CPU for Rs. 7935, a man makes a 

profit of 15%. At what price should he sell it to 

make a profit of 25%? (in Rs.) 

 (a) 8725 (b) 8525 

 (c) 8825 (d) 8625 

Ans :  (d)  Cost price of CPU = 
( )

7935 100
6900

100 15

×
=

+
 

 required price of 25% profit = 
( )6900 100 25

8625
100

+
=  

36. Which sampling could be effective during a 

sampling frame is difficult to identify in 

research? 

 (a) Quota  (b) Convenient  

 (c) Purposive  (d) Snowball  

Ans :  (d) Sampling could be effective during sampling 

frame is snowball. Snowball sample group grow like are 

rolling snowball. Quota sampling, convenient purposive 

sampling is more effective during research.  

37. Which is a macromineral that the body needs 

to work properly? 

 (a) Gold (b) Silver  

 (c) Lead (d) Calcium  

Ans :  (d) Calcium is important for the body to work 

properly calcium is a mineral most often associated with 

healthy bone and teeth . also plays an important role in 

blood clotting, helping to muscle contract. It is the most 

abundant mineral in the body and it is vital for bone 

health deficiency of calcium is knowas hypocalcemia.  

Calcium deficiency can cause a variety of problem - 

• Feeling tired 

• Muscle camps 

• Weakness. 

• Wakening of bone  

38. Which one of the following is the major cause 

of postpartum haemorrhage? 

 (a) Atonic uterus  

 (b) Thrombin  

 (c) Pre-eclampsia  

 (d) Incoordinate uterine action  

Ans :  (a) Atonic uterus is the major cause of post 

partum haemorrhage. Uterine atony is caused by the 

inability of the myometrium to contract sufficiently  in 

response to oxytocin a hormone the body release, before 

and during childbirth to stimulate uterine contractions.  

Uterine atony is usually diagnosed during physical 

examination immediately upon delivery.  

39. What is a Bacille Calmette-Gurin (BCG)? 

 (a) Toxoid  

 (b) Immunoglobulin  

 (c) Live attenuated vaccine  

 (d) Killed vaccine  

Ans :  (c) Vaccines induce the immune system against 

future disease, caused by a particular disease B.C.G the 

vaccine is mainly used to prevent TB. B.C.G is type live 

Attenuated vaccine. The B.C.G vaccine was first time 

used clinically in 1921 . This vaccine is given to 

children at birth, from a few days a after the birth to 

child, this vaccine should be given fill the age of six 

month. Although till the age of five year the vaccine can 

be given anytime .   

40. Which conventions are followed for spherical 

mirrors and lens? 

 (a) New Einstein sign  

 (b) New Cartesian sign  

 (c) New Huygens sign  

 (d) New Newton sign  

Ans :  (b) The sign convention is known as new 

Cartesian sign convention.  

• New Cartesian for spherical mirror :- 

⇒ The object is always placed on the left of the mirror 

and right from the object falls from the left to the right.  

⇒ All distance parallel to the principal axis are 

measured from the pole.  

⇒ All distances measured to the right of the pole are 

taken as +ve. 

⇒  All distance measure to the left of the pole are taken 

as -ve. 

⇒ The height measured upwards perpendicular to the 

principle axis is taken as +ve 

⇒ The height measured downwards perpendicular to 

the principle axis is taken as -ve 
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41. Which is called as Non-probability sampling? 

 (a) Cluster sampling  

 (b) Systematic sampling  

 (c) Stratified random sampling  

 (d) Quota sampling  

Ans :  (d) Quota sampling is called as non- probability 
sampling method in which researchers create a sample 
involving individuals that represent a population. 
Researchers choose these individuals according to 
specific traits or qualities. They decide and create 
quotas so that the market research sample can be useful 

in colleting data.     

42. Which disease is Fatal brain disorders that are 

caused by the prion protein? 

 (a) Pick's Disease  

 (b) Mad cow disease  

 (c) Creutzfeldt-Jakob disease  

 (d) Lewy Body Disease  

Ans :  (c) Creutzfeldt- Jakob disease that rare caused by 
prion protein which is fatal for brain. Creutzfeldt Jakob 
disease is a human prion disease. It is a 
neurodegenerative disorder with characteristic clinical 
and diagnostic feature this disease is rapidly progressive 

and always fatal.  

43. What is the renal threshold value of glucose? 

 (a) 182 Mg/dl (b) 188 Mg/ dl 

 (c) 185 Mg/dl (d) 180 Mg/dl 

Ans :  (d) The proximal tubule can only reabsorb a 
limited amount of glucose, when the blood glucose 
level exceed about 160-180 mg/dl or 160-180 
mg/100ml, the proximal tubule becomes overwhelmed 
and begins to excrete glucose in the urine. This point is 
called the renal threshold of glucose.  

44. Which one of the following is an example of the 

risk for infection in nursing diagnosis? 

 (a) Wellness Nursing Diagnosis  

 (b) Diagnostic Nursing Diagnosis  

 (c) Risk Nursing Diagnosis  

 (d) Actual Nursing Diagnosis 

Ans:(c) A risk nursing diagnosis is " a clinical 
judgement concerning the vulnerability of an individual, 
family, group or community for developing an 
undesirable human responsive to health condition / life 
processes" risk nursing diagnosis must be supported by 
risk factor that contribute to the increased vulnerability  

45. Which causes Klinefelter syndrome? 

 (a) Xo  (b) Xyy 

 (c) Xx (d) Xxy 

Ans :  (d) klinefelter syndrome is a genetic condition 
that result when a boy is born with an extra copy of the 
x chromosome ie xxy, this genetic condition affecting 
males, and it often is not diagnosed until adulthood 
klinefelter syndrome may adversely affect testicular 
growth, resulting smaller than normal testicles, which 
lead to lower production to testosterone.  

46. The three-tier system of Panchayat Raj was 

recommended by  

 (a) Jai Prakash Narain Committee 

 (b) Simon commission 

 (c) Kaka Kalelkar Committee 

 (d) Balwant Rai Mehta Committee  

 

Ans :  (d)  The three - tier system of panchayat Raj was 
recommended by Balwant Rai Mehta committee.  The 
committee was appointed in 1957 to examine and 
suggest measures for better working of the community 
development program and the national extension service 
Three -tier panchayati raj system. 

Gram panchayat at the village level, the panchayat 
samiti at the block level and the zila parishad at the 
district level.    

47. The Schick test is done for the diagnosis of  

 (a) Diphtheria (b) Measles  

 (c) Rubella (d) Mumps  

Ans :  (a) Schick test is invented between 1910-1911 a 
test used to determine whet her or not a person is 
suspectable to diphtheria. It was named after its 
inventor , Bela Schick [1877-1967] a Hungarian - born 
American pediatrician  

⇒ Diphtheria is a highly contagious and potentially life 
threading bacterial disease caused by corynebactrium 
diphtheriae.     

48. Which one of the following is the last part of 

the small intestine? 

 (a) Ileum (b) Jejunum  

 (c) Duodenum (d) Appendix  

Ans : (a) Last part of small Intestine is Ileum. Small 

Intestine is actually the longest segment of the 

gastrointestinal  tract- 

The long , continuous pathway that food travels through 

our digestive system. In small Intestine food is broken 

down into liquid and most of its nutrients are absorbed.  
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Small intestine have 3 part. 

1. Duodenum 

2. Jejunum 

3. Ileum.    

49. Which of the following metals is in liquid state 

at room temperature? 

 (a) Sodium (b) Mercury  

 (c) Coal (d) Sulphur  

Ans :  (b) Hg metal is in liquid state at room 

temperature, mercury is a chemical element with the 

symbol Hg and atomic number is 80. It is also known a 

quick silver and was formerly named hydrargyrum from 

the Greek words gydor and argyros . 

50. The optimal head circumference will be 45 cms 

at ___ 

 (a) 12 months of age  

 (b) 8 months of age  

 (c) 4 months of age  

 (d) 6 months of age  

Ans :  (a)  

Age (months) Head Circum ference (cm) 

0.5  33 cm 

1.5  35 cm 

2  37 cm 

6   41 cm 

8  42 cm 

12  45 cm 

15  45.61 cm 

51. Pyridoxine is otherwise called as _____ 

 (a) Vitamin B1  

 (b) Vitamin B2  

 (c) Vitamin B12  

 (d) Vitamin B6 

Ans :  (d)   Pyridoxine is otherwise called as vitamin 

B6 . Vitamin B6 or Pyridoxin is a water soluble vitamin 

found naturally in many food , as well as added to foods 

and supplements.  

52. On dividing a number by 483, we get 68 as 

remainder. On dividing the same number by 

69, what will be the remainder? 

 (a) 38 (b) 58 

 (c) 68 (d) 48 

Ans: (c)  If quotient is K then  

 number = 483 K +68 

 or          = 69 × 7K + 68 

 ∴ 69 × 7K 

It is divisible by 69 irrespective of the value of K hence 
the reminder will be 68 

53. In which stage of labour the placenta is 

delivered? 

 (a) 1
st
 stage  (b) 3

rd
 stage  

 (c) 2
nd

 stage  (d) 4
th

 stage  

Ans :  (b) The third stage of labour involves giving a 

prophylactic utenotoinic early card traction to delivery 

the placenta with expectant manage mint signs of 

placental separation are awaited and the placenta is 

delivered spontaneously  

Stage of labour : It is divide into three stage 

⇒ The first stage starts when labour begins and ends 

with full cervical dilation and effacement.  

⇒ The second stage commences with complete cervical 

dilation and end with the delivery of fetus. 

⇒ The third stage initiates after the fetus is delivered 

and ends when the placenta is delivered.   

54. The normal IQ level of human beings is ____ 

 (a) 80–100 (b) 120–Above  

 (c) 110–120 (d) 90–100 

Ans :  (d) I.Q is a standard measure of an individeeal's 

intelligence level based on psychological test. In the 

early years of intelligence testing 

Mental Age
I.Q 100

Chronological Age
= ×  

⇒ The normal I.Q level of human is 90-100 

55. Down syndrome is also known as ____ 

 (a) Trisomy 13  (b) Trisomy 18  

 (c) Trisomy 21  (d) Monosomy 13 

Ans :  (c) Down syndrome is a genetic condition where 

people are born with an extra chromosome. Most people 

have 23 pairs of chromosome with each cell in their 

body, for a total of 46. A person diagnosed with down 

syndrome has an extra copy of chromosome 21 which 

means their cell contain 47 total chromosome instead of 

46, this change the way their brain and body develop  

Sign of down syndrome  

• A flat nose bridge  

•  A short neck  

• Small ear, hands and feet.  

56. Which one of the following is the emergency 

management of burn injury in the first 24 

hours? 

 (a) Plastic Surgery  

 (b) Fluid Resuscitation  

 (c) Dressing  

 (d) Antibiotic Therapy  
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Ans:(b) Fluid Resuscitation is the emergency 

management of burn injury in the 24 hours.  

• Early Management of fluid losses using an accepted 

fluid resuscitation formula is fundamental to good 

quality burn care. Mechanised that visual space are 

several compromised following severe burns and the 

subsequent inflammatory.    

57. A framework for quality care does not include: 

 (a) Critical Thinking  

 (b) Professional Standards  

 (c) Mission, Values  

 (d) Care Guidelines  

Ans :  (a) Critical thinking does not include a 

framework for quality care. While professional 

standards mission, value, care guidelines, consequently, 

a comprehensive model of service quality was 

developed for health care context the finding of the 

current study led to a conceptual frame work of health 

care quality.  

58. Werner's syndrome is considered as _____ 

 (a) MEN I (b) MEN II 

 (c) MEN IV (d) MEN III 

Ans :  (a) Multiple endocrine neoplasia type 1[MEN1] 

is Heredity condition a associated with tumors of the 

endocrine (hormone producing) glands MEN 1 was 

originally known as wermer's syndrome. The most 

common tumors seen in MEN 1 involve the parathyroid 

gland islet cells of the pancreas and pituitary gland.  

59. All green plants and bacteria which can 

synthesize their food by photosynthesis come 

under the category of _____ 

 (a) Decomposers  (b) Intakes  

 (c) Food givers  (d) Producers  

Ans :  (d) All green plants and bacteria which can 

synthesize their food by photosynthesis are called 

Autotrophs. An Autotrophs uses photosynthesis under 

the category of producers. In photo autotrophs includes 

plants, algae and cynobacteria.  

•  Hetreotrophs are organism that depend on other 

animals for food .  

• Chemoautotrophs are organism that synthesize sugar 

by to king energy from inorganic chemical compounds,   

60. Which is a chronic inflammatory and 

autoimmune disease affecting peripheral 

synovial joints of bone? 

 (a) Rheumatoid  (b) Polyarthritis  

 (c) Oreoarthritis  (d) Ankylosing  

Ans :  (a) Autoimmune disease are conditions in which 

your system mistakenly affects your body types include 

rheumatoid arthritis, chronic disease, and some thyroid 

condition.  

• Rheumatoid arthritis [T.R] is a chronic systemic 

autoimmune disease that primary affect the lining of the 

synovial joint and is associated with progressive 

disability premature death   

61. Which one of the following includes the 

immediate step in resuscitation of the new 

born? 

 (a) Suction of the baby's stomach  

 (b) Clearing the oral and nosal airway  

 (c) Squeezing the chest to remove secretions 

from the airway  

 (d) Routinely giving sodium bicarbonate  

Ans :  (b) The new born take immediate step in 

resuscitation are to provide warmth by placing the baby 

under a radiant heat source positioning the head in a 

sniffing position to open the airway clearing the airway 

if necessary with build syringe or suction catheter 

drying the baby and stimulating breathing.  

62. A diet high in saturated fats can be linked to 

______ 

 (a) Kidney failure  

 (b) Cardiac /heart diseases  

 (c) Anorexia  

 (d) Bulimia  

Ans :  (b) High saturated fats increase the level of 

cholesterol that’s why avoided in cardiac disease. 

Eating too much saturated fats in your diet can raise bad 

LDL cholesterol in your blood which can increase the 

risk of heart disease by taking cholesterol from parts of 

the body where's there's too much of it to the liver 

where its disposed of  

LDL - Low density lipoprotein 

HDL - High density lipoprotein  

63. Who discovered the antibiotic penicillin? 

 (a) Alexander Fleming  

 (b) Edward Jenner  

 (c) Waksman  

 (d) None of these  

Ans :  (a) Alexander Fleming was a Scottish physician-

scientist who was recognized for discovering penicillin 

in 1928. The simple discovery and use of the antibiotic 

agent has saved millions of lives, and earned Fleming 

together with Howard Florey and production of 

penicillin- the 1945 noble prize in physiology / 

medicine.  

64. The ratio of number of girls to boys in a school 

of 4500 students is 49:51. How many more girls 

should be admitted to make the ratio 1 : 1? 

 (a) 88 (b) 90 

 (c) 92 (d) 86 

                             8 / 13



 

RRB Staff Nurse Exam. 2019 11 YCT 

Ans: (b) Number of girls in the school  

  = 
( )

4500 49
2205

49 51

×
=

+
 

∴ Number of boys  = 4500 - 2205 = 2295 

Let the admission of x girls make the ratio 1.1 

∴ 
2205 x 1

2295 1

+
=  

    2205 + x = 2295 

 x = 2295 - 2205 = 90 

65. Which one of the following aspects is not 

considered as an indicator of a hospital 

system? 

 (a) Patient Satisfaction  (b) Public Relations  

 (c) Machinery  (d) Quality of Care  

Ans :  (c) Indicator of the hospital system are the 

measure of health service out comes. It is quantitative 

and qualitative measures that monitor and evaluate the 

health care service provide to patients.  

⇒ Indicator that are used in the hospital system  

• Patient safety 

• Patient satisfaction  

• Efficiency measures  

• equity relation  

⇒ Machinery comes under the resources available at 

the hospital  

66. Two bells ring at intervals of 59 seconds and 70 

seconds. If they both ring at 10 O'clock in the 

morning together, after how many seconds will 

they ring together again? 

 (a) 4230 (b) 4030 

 (c) 4330 (d) 4130 

Ans :  (d) LCM of the required time 59 and 70 LCM of 

59 and 70 would be 4130  

Hence both the bells will ring together after 4130 

seconds.   

67. Which of the following is a biodegradable 

material? 

 (a) Wood  (b) Plastic bag  

 (c) Nuclear waste  (d) Aluminium 

Ans :  (a) The substances that are broken down by 

biological process (bacteria) are said to be bio 

degradable  

Ex. plant and animal, vegetable and fruit  

Non-bio-degradable : Substances that are not broken 

down by biological process are said to be non- 

biodegradable. These substance may be inert an simply 

persist in the environment for a long time or may harm 

the various member's of the ecosystem.  

For ex.  Plastic metals conerete, nylon e.t.c  

68. Nominal variables are also known as ____ 

 (a) Ordinal variable  

 (b) Categorical variable  

 (c) Discrete variable  

 (d) Confounding variable  

Ans :  (b) Nominal variables are also known as 

categorical variable  

⇒ The categories are different from each other  

Example.  gender has two categories of male and 

female.  

⇒ ordinal variable includes ranking or order with 

specific attribute  

Ex. for example, the health status of poor , fair and 

good  

⇒ confounding variables are a type of extraneous 

variable. It is the third variable that influences causes 

and effects. The inability to validate the confounding 

variable effects the result of the study. 

⇒ A discrete variable is measured by counting  

Ex. The number of students present in the class  

69. Which is the main characteristic of scientific 

research? 

 (a) Empirical Research  

 (b) Experimental Research  

 (c) Theoretical Research  

 (d) Historical Research  

Ans :(b) Experimental research is a scientific 

investigation that sets out to determine the cause and 

effect of two or more variable it include a hypothesis a 

variable that can be manipulated by the researcher and 

variable that can be measured calculated and compared.  

70. Which function is transmission of sound 

vibrations to the internal ear? 

 (a) Auricle  

 (b) Tympanic membrane  

 (c) Vestibule  

 (d) Eustachian tube  

Ans :  (b) Tympanic membrane is transmission of 

sound vibration to the internal ear . Tympanic 

membrane also called eardrum thin layer of tissue in the 

human ear that receives sound vibration from outer air 

and transmit them to the auditory ossicles, which are 

tiny bone in the tympanic (middle-ear) cavity . It also 

serves as the lateral wall of the tympanic cavity. 

Separating it from the external auditory canal . The 

membrane lies across the end the end of the external 

canal and looks like a flattened cone with its tip (apex) 

pointed inward.  
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71. Which one of the following is a function of the 
liver? 

 (a) Synthesis of plasma protein  

 (b) Elimination of carbohydrates  

 (c) Concentration of bile  

 (d) Secretion of cholecystokinin  

Ans :  (a) Synthesis of the plasma protein is one of the 
function of the liver. The majority of plasma protein are 
synthesized and secreted by the liver, the most abundant 
being albumin. The mechanism of its synthesis and 
secretion has recently been elucidated in greater detail. 
Synthesis of the polypeptide chain is initiated on free 
polyribosome with as first amino acid.    

72. In this question, relationship between different 
elements is shown in the statement. This 
statement is followed by three conclusions. 
Assume the given statement to be true and 
choose the answer from the given options: 

 Statement: W = O > R ≥ I > E < D 

 Conclusions:  

 (i) E < R  

 (ii) I < O 

 (iii) W > I 

 (a) Only (i) and (ii) follow  

 (b) Only (ii) and (iii) follow  

 (c) Only (iii) follow  

 (d) All follow  

 

Ans :  (d)   The given statement is  

 W = O > R ≥ I > E < D  

Conclusion  

(i) E < R - true (R≥ I > E, hence E < R is definitely true. 

(ii) I < O - true (O> R ≥ I , hence O> I is definitely true. 

(iii) W > I - true (W = O > R ≥ I, hence W > I is 
definitely true  

 Hence, everyone follows.  

73. What is cardinal sign of meningitis? 

 (a) Trousseau's Sign  (b) Kerning Sign  

 (c) Ortolani Sign  (d) Chvostek's Sign  

Ans : (b) Meningitis is an infection and inflammation 
of  the fluid and membranes surrounding the brain and 
spinal cord. These membranes are called meninges. The 
inflammation from meningitis typically triggers 
symptoms such as headache fever and a stiff neck.  

Symptoms of Meningitis  

• Sudden high fever  

• Severe headache 

• Sleeping or trouble waking  

• Sensitivity to light 

• Stiff neck  

• Nausea or vomiting.   

74. The Pong dam is built on which of the 

following rivers? 

 (a) Sutlej (b) Beas  

 (c) Ravi (d) Chenab  

Ans :  (b)    Rive       -    Dam 

  Beas       -  Pong 

  Sutlej     -   Bhakra Nagal dam 

  Ravi       -  Shahpur kandi 

  Chenab  -  Baglihar 

75. Bile salts are important for digestion of ___ 

 (a) Fat  (b) Protein  

 (c) Carbohydrate  (d) Iron  

Ans :  (a) Bile salts are important for digestion of fats.  

Bile salts are one of the primary components of bile. 

Bile is a greenish-yellow fluid made by our liver and 

stored in the gallbladder. In addition of bile salts, bile 

contains cholesterol, water, bile salts and the pigment 

bilirubin.    

Bile salts help with the digestion of fat. They also help 

the body absorb fat-soluble vitamins, like vitamin A, D, 

E and K.   

76. In a certain code language, if BEACH is coded 

as GDCJE, then how is FLUID coded in that 

language? 

 (a) UOLRW  (b) HNWKF 

 (c) GLXOI (d) NHWFK 

Ans :  (d)  

    

77. Which is the earliest sign of rickets? 

 (a) Harrisons' Groove  (b) Craniotabes  

 (c) Bow Legs  (d) Rickety Rosary   

Ans :  (b) The earliest sign of rickets is craniotabes . 

Craniotabes is a softening of the skull bones. Rickets is 

a childhood disease where child bones are too soft, 

causing their bones to warp, bend and break more 

easily. Its typically caused by a lack of vitamin D, but in 

rare cases, is caused by an underlying genetic  disorder  

Sign and symptoms of Rickets  

• A widening of knee or wrists.  

• Bone pain  

• Growth delays 

• Teeth problem such as cavities  

• Pigeon chest.  

• unusual curving of the spine or shape of the skull.   
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78. Life threatening condition due to rapid loss of 

blood or body fluids is known as _____. 

 (a) Hypovolemic shock  

 (b) Neurogenic shock  

 (c) Anaphylactic shock  

 (d) Septic shock  

Ans :  (a) Life threatening condition due to rapid loss 

of blood is known as Hypovolemic shock is an 

emergency condition in which severe blood or other 

fluid loss makes the heart unable to pump enough blood 

to the body . This type of shock can cause many organs 

to stop working.  

Hypovolemic shock symptoms include –  

Breathing faster than normal  

Feeling confuse or anxious  

Sweating a lot 

Having a fast pulse   

79. The frictional force exerted by the fluids also 

called? 

 (a) Slag (b) Effort  

 (c) Drag (d) Core  

Ans :  (c) This frictional force is called drag force and 

this parallels the motion of body in a fluid medium. 

Frictional force that resists the sliding or rolling of one 

solid object over another.    

80. The memory disorder that affects older adults 

is ____. 

 (a) Insomnia (b) Dystrophy  

 (c) Dyspnoea (d) Dementia  

Ans :  (d) Dementia is a term used to describe a group 

of symptoms affecting memory thinking and social 

abilities severely enough to interfere with your daily life 

. It is not specific disease, but several disease can cause 

dementia .  

Symptoms of dementia  

• Memory loss, which is usually noticed by some one 

else. 

• Confusion and disorientation  

• Difficulty with planning and organizing 

• Difficulty communication or finding words 

• Difficulty handling complex tasks.  

81. Who won the Australian Open 2019 Men's 

single title? 

 (a) Rafael Nadal  (b) Roger Federer  

 (c) Andy Murray (d) Novak Djokovic  

Ans :  (d)   Novak Djokovic won thee Australian open 

men's singles title in Melbourn on 27 January 2019 He 

defeated Rafael Nadal From Spain. 

It was his 7
th

 Australian Open men's singles title.  

He won Australian open men's singles title in 2008, 

2011, 2012, 2013, 2015, and 2016. 

82. Which is a cause of Anuria? 

 (a) Appendicitis  (b) Gastritis  

 (c) Pyrexia  (d) Renal failure  

Ans : (d) Anuria is when the kidney stop producing 

urine . The condition is usually the result of disease or 

damage to the kidney. Urination is a vital process and 

the result of the kidneys filtering and removing waste 

product fluid, electrolytes and other substances the body 

no longer wants  or needs. 

83. Standards of mental health practices are 

published by _______ 

 (a) American Nurses Association  

 (b) Indian Nursing Council  

 (c) State Nursing Council  

 (d) Trained Nurses Association of India  

Ans :  (a) American nurse association published the 

standards of mental health practices the american 

psychological association (A.P.A) while enlisting 

careers in psychology on their website American 

Psychological Association (APA) describes that 'School 

psychologists work directly with public and  private 

school.  

• The American Psychiatric Association is an 

organization of psychiatric working together to ensure 

human care and effective treatment for all individuals 

with mental disorder, including mental retardation and 

substances- related disorders.    

84. The ancient Harappan city of Lothal is located 

in the state of ____ 

 (a) Gujarat  (b) Rajasthan  

 (c) Uttar Pradesh  (d) Punjab  

Ans :  (a)  The ancient Harappan city of Lothal is in the 

state of Gujarat. It is situated on the banks of Bhogwa 

river from where Indus house bones have been found.  

85. Effective approach in preventing pulmonary 

embolism is to prevent ____. 

 (a) Heart Disease  

 (b) Deep Vein Thrombosis  

 (c) Chronic Obstructive Pulmonary Disease  

 (d) Diabetes  

Ans :  (b) Effective approach in preventing pulmonary 

embolism is to prevent deep vein thrombosis.  

• Deep vein thrombosis [D.V.T] occurs when a blood 

clot thrombus form in one or more of deep vein in the 

body usually in the legs. Deep vein thrombosis can 

cause leg pain or swelling. Some times there are no 

noticeable symptoms. Deep vein thrombosis can be 

serious because blood clots in the vein can break loose. 
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The clots can then travel through the blood stream and 

get stuck in the lungs, blocking blood flow (Pulmonary 

embolism). when D.V.T and pulmonary embolism 

occur together it's called venus thromboembolism 

[V.T.E] 

86. How many drops per minute would you 
administer when the doctor's order states that 
the client should receive 1000 cc of fluid for 8 
hours and the IV set delivers 20 gtts per cc? 

 (a) 48 gtts (b) 51 gtts 

 (c) 42 gtts  (d) 31 gtts 

Ans : (c) When the doctors order states that the client 
should receive 100 cc of fluid for 8 hour and the IV set 
delivers 20 it perch then we have to give 42 gtts/min  

87. Which theory was developed by a nurse? 

 (a) Uncertainty in illness theory  

 (b) Hierarchy of need theory  

 (c) Social cognitive theory  

 (d) Job satisfaction theory  

Ans : (a) Uncertainty in illness theory was given by Dr. 
Marle H. Mishel she completed her Master's in 
Psychiatric Nursing . 

• uncertainty in illness through has the following 
elements . 

⇒ Antecedents 

⇒ appraisal 

⇒ Coping 

88. The number of new cases occurring in a 
defined population during a specified period of 
time is called _____. 

 (a) Morbidity  (b) Prevalence  

 (c) Incidence  (d) Point Prevalence  

Ans :  (c) Incidence of the disease is described as the 
rate of occurrence of new case arising in a given period 
in a specified population  

• An in cadence rate express the number of new case of 
disease divided by the total number of person at risk for 
disease.  

89. Which of the following develops a tough coat 
and is gradually converted into a seed in 
plants? 

 (a) Ovule  (b) Pollen grains  

 (c) Embryo  (d) Zygote  

Ans : (a) The ovule develops a tough coat and is 
gradually converted into a seed the ovary grow rapidly 
and ripens to form a fruit means while the petals sepals 
stamens, style and stigma may shrivel and fall off the 
seeding contains the future plant or embryo which 
develops into a seed ling under appropriate conditions.  

•  A Pollen grain reaches the egg and fertilization takes 

place on sperm fuse with an egg and forms a diploid 

zygote another sperm join with the fusion nucleus to 

form a triploid nucleus.  

90. Which drug is used to treat HIV/AIDS? 

 (a) Ampicillin 

 (b) Dexamethasone  

 (c) Streptomycin  

 (d) Zidovudine  

Ans : (d) Zidovudine drugs is used to treat HIV/AIDS 

Zidovudine is used to slow the progression of disease in 

patient infected with HIV who have advanced 

symptoms, early symptoms or no symptoms at all this 

medicine is also used to help prevent pregnant women 

who have H.I.V from passing the virus to their babies 

during pregnancy and at birth.  

91. Which assessment method will be used after 

the client has been discharged? 

 (a) Auditing  

 (b) Retrospective Evaluation  

 (c) Concurrent Evaluation 

 (d) Quality Assurance  

Ans : (b) Retrospective Evolution Method will be used 

after the client has been discharged  

⇒ Concurrent Evaluation:  Continuous assessment 

process when patient is in the hospital. 

⇒ Auditing : Systematic assessment of records, 

documents of a unit or organization     

92. Where does the fertilization takes place? 

 (a) Infundibulum  (b) Ovary  

 (c) Ampulla  (d) Isthmus  

Ans :  (c) In human, the steps of fertilization often 

require the joining of an egg and sperm. The male 

sperm fertilise the female egg inside the body of the 

women during natural conception; Just out side the 

ovary fertilization occur in fallopian tube of Ampulla.  

⇒ The fertilized egg flow done the fallopian tube from 

there an embryo will start to develop if it is inserted 

successfully in the uterus.  

93. "Splitting" by the client with borderline 

personality disorder denotes___ 

 (a) A primitive defence mechanism in which the 

client sees objects as all good or all bad  

 (b) Two distinct personalities within the 

borderline client 

 (c) Evidence of precocious developement  

 (d) A brief psychotic episode in which the client 

loses contact with reality  

Ans: (a) "Splitting" stems from lack of accomplishment 

Its mean fasted by failure to combine ad recognize 

positive and negative feelings . Clients with splitting 
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may either viral a caring person as someone who is 

lovingly idealized or when the earring stops. Then same 

person is devalued and is viewed someone that is 

hopeful.   

94. In which year the CSSM programme was 

initiated? 

 (a) 1980 (b) 1990 

 (c) 1992 (d) 1982 

Ans : (c)    CSSM - Child survival and safe 

motherhood. 

CSSM program launched on 20
th

 August 1992 .  

Program is directed toward achieving 9 of 17 goals of 

National Health Policy which are related to the maternal 

and child policy.  

Objectives of CSSM program -  

Giving continual ORT to children below 5 years of age.  

95. How many times can a person be elected as the 

President of India? 

 (a) Five times only  (b) One time only  

 (c) Any number of times (d) Two times only  

Ans :  (c)  An individual can be elected constitutionally 

any number of times before he fulfills all the 

requirements under the provisions of the constitution.  

In order to be qualified for the office of president, 

Article 58 of the constitution lays down the principal 

requirements which must be fulfilled.  

A president is expected to be  

⇒ A citizen of India 

⇒ Of 35 years of age or above 

⇒ Eligible to become a member of the Lok sabha 

96. 2450 boys and 1750 girls are examined in a 

test; 42% of the boys and 36% of the girls pass 

the test. The percentage of the total who     

failed is 

 (a) 62.5 (b) 63.5 

 (c) 60.5 (d) 61.5 

 

Ans :  (c)    Number of boys passed  

  =  
2450 42

1029
100

×
=  

∴ Number of failed boys = 2450 - 1029 = 1421 

Number of girl passed = 
1750 36

630
100

×
=  

Number of failed girls = 1750 - 630 = 1120 

Number of failed student  = 1120 + 1421= 2541 

Thus , percentage of failed student = 
2541

100
4200

×  

    = 60.5 

97. The word emotion etymologically means ___. 

 (a) To express  (b) To stir up  

 (c) To test  (d) To cry  

Ans :  (b) The word "emotion" etymologically means 

"To stir up" the word emotion has originated from the 

French word emouvoir which means excite  

• The word emotion holds importance in Modern 

psychology.  

• In practical terms Joseph LeDoux has emotions  their 

as the result of a defined, emotions as the result of a 

cognitive and conscious process which occur in 

response to a body system response to a trigger.  

98. The term 'Leg Before Wicket' is associated 

with which game/sport? 

 (a) Football  (b) Cricket  

 (c) Chess  (d) Volley Ball  

Ans :  (b)  Sports    -    Related terms  

Football - Striker, Full Back, Half Back , Centre, 

Penalty, Kick, Refree, Sweeper 

Cricket -  LBW (Leg before wicket), Hit wicket, swing, 

stroke, silly point, short pitch 

99. By which one of the following measures the 

human immuno deficiency virus does not 

spread? 

 (a) Use of intoxicant drugs  

 (b) Sexual contact  

 (c) Blood transfusions  

 (d) Shaking hands  

Ans :  (d) By Shaking Hands Human immune 

deficiency virus does not spread 

• HIV (Human immuno deficiency Virus) is a virus that 

attack the body immune system. If HIV is not treated it 

can lead to AIDS. 

• There is currently no effective cure once controlled. 

People with HIV who get effective HIV treatment can 

live long healthy lives and protect their partners.  

100. How much population is covered by a 

community health centre? 

 (a) 15000–45000 (b) 20000–30000 

 (c) 3000–5000 (d) 80000–120000 

Ans :  (d) 80000-120000 population is covered by a 

community health centre. One community health centre 

[Rural hospital] for a population of 120000 people in 

the plains and for 80000 in tribal and hilly areas. 
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1.  In this question, relationship between different 

elements is shown in the statement. This 

statement is followed by three conclusions. 

Assume the given statement to be true and 

choose the answer from the given option: 

  Statement: B < R > I ≥ M = D > E 

  Conclusion: 

 (i) B < M 

 (ii) I > E 

 (iii) R > D      

 (a) Only (i) and (iii) follow 

 (b) All follow 

 (c) Only (ii) and (iii) follow 

 (d) Only (i) and (ii) follow 

Ans. (c) : Statement, B < R > I ≥ I ≥ M = D > E 

(i) B < M 

(ii) I > E 

(iii) R > D 

Therefore only conclusions (ii) and (iii) are rational 

2.  The most common cause of embolism is : 

 (a) Thrombus (b) Air bubbles 

 (c) Athermanous debris (d) Bone fragments 

Ans. (a) : Pulmonary embolism is caused by a blocked 

artery in the lungs. The most common cause of such a 

blockage is a blood clot that forms in a deep vein in the 

leg and travels to the lungs. Where it gets lodged in a 

smaller lung artery. Almost all blood clots that cause 

pulmonary embolism are formed in the deep leg veins. 

3.  The organelles concerned with the metabolic 

processes are present inside the : 

 (a) Ribosome 

 (b) Cytoplasm 

 (c) Mitochondria 

 (d) Endoplasmic reticulum 

Ans. (b) : Cytoplasmic organelles are small cytoplasmic 

structures that carry out specific functions. Cytoplasmic 

organelles are classified as membranous or non-

membranous organelles, based on whether a membrane 

surrounds them. The membranous organelles of 

cytoplasm are endoplasmic reticulum, Golgi complex, 

mitochondria, plastids (in animal cells) and lysosomes 

(in plant cells), while non-membranous organelles of 

cytoplasm include ribosomes, cytoskeleton and 

centrioles. 

4.  Myopia is corrected by using : 

 (a) Cylindrical lens (b) Concave lens 

 (c) Bifocal lens (d) Convex lens 

Ans. (b) : Myopia vision defect can be corrected by a 

concave lens of suitable power in the front of the 

myopic eye. Myopia is also called as nearsightedness. 

Hypermetropia the defect of vision in human eyes in 

which a person cannot see nearby objects clearly but 

can see the distant objects. Hence, it is also called long-

sightedness. It is corrected by using convex lens. 

5.  The normal human body temperature is 

maintained by : 

 (a) Fat (b) Carbohydrates 

 (c) Fiber (d) Protein 

Ans. (a) : The body has several types of fat, also known 

as adipose tissue. Brown adipose tissue dissipates 

energy by producing heat to maintain body temperature. 

Which adipose tissue stores excess calories people 

consume, which can lead to obesity.  

6.  On dividing a number by 427, we get 60 as 

remainder. On dividing the same number by 

61, what will be the reminder?    

 (a) 60 (b) 46 

 (c) 36 (d) 56 

Ans. (a) : Let the quotient is K, then 

the Number = 427K + 60 

  = 61 × 7K + 60 

therefore on dividing with 61, the remainder will be 60.  

7.  .......... denotes one who never completed a 

pregnancy to the stage of viability. 

 (a) Nullipara (b) Multigravidae 

 (c) Puerpera (d) Nulligravida 

Ans. (a) : Nullipara: The woman who is pregnant, that 

which has not crossed 22 weak is called Nullipara 

Nulligravida: A women who's never been pregnant is 

called Nulligravida. 

Multigravida: A women who carries multiple 

pregnancies have done. 

Puerpeara: A women who has given birth 10 child too 

soon. 
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8.  Which one of the following graph is commonly 

used to represent frequency distribution?   

 (a) Histogram  (b) Pie diagram  

 (c) Bar diagram  (d) 'O' gives  

Ans. (a) : In statistics, a histogram is a graphical 

representation of the distribution of data, it is a graph 

used to represent the frequency distribution. The 

histogram is represented by a set of recharges, adjacent 

to each other.   

9.  What is the full form of KCC scheme, in 

agricultural Sector?    

 (a) Kisan Credit card 

 (b) Kinder Credit card 

 (c) Kiran Credit card 

 (d) Kirosh Credit card 

Ans. (a) : Kisan Credit Card (KCC) Scheme was 

launched by the government to med the financial 

equipment of farmers at various stages of forming. KCC 

scheme was introduced in 1998   

10.  In a certain code language, if BADLY is coded 

as CDFAN, then how is FOTRY coded in that 

language?       

 (a) HQTVA (b) ULIGB 

 (c) QHTAV (d) BWURI 

Ans. (c) : As in the way  In the same way 

 

11.  The force of attraction of the earth on an object 

is known as the_____.    

 (a) Weight of the object  

 (b) Motion of the object  

 (c) Friction of the object 

 (d) Mass of the object  

Ans. (a) : The force of attraction of the earth on an 

object is known as the weight of the object, weight of 

object of mass 'm' is 

represented by w, and 

∴ F = W = Mg  { }F ma and here a = g=Q  

here g → in acceleration due to gravity.  

12.  The process involved in the development of a 

mature ovum is called : 

 (a) Oogenesis (b) Fertillization 

 (c) Gametogenesis (d) Spermatogenesis 

Ans. (a) : Oogenesis in the human female reproductive 

system growth process in which the primary egg cell (or 

ovum) becomes a mature ovum. 

13.  The larynx is closed during swallowing by : 

 (a) Epiglottis (b) Cricoid cartilage 

 (c) Vocal cord (d) Thyroid cartilage 

Ans. (a) : When you Swallow, a flap called the 

epiglottis moves to block the entrance of food particles 

into your larynx and lungs. The muscles of the larynx 

pull upward to assist with this movement. They also 

tightly close during swallowing. 

14.  How are ECG changes presented in ischemia 

and myocardial infarction? 

 (a) As a small Q wave, with an elevation in the 

ST segment and a peak or inversion in the T 

wave 

 (b) As an elevated PQRS 

 (c) As a larger Q wave and P wave 

 (d) As a depressed ST segment 

Ans. (a) : The most common ECG sign of myocardial 

ischemia is flat or down-sloping ST-Segment 

depression of 1.0 mm or greater. This report draws 

attention to other much less common, but possibly 

equally important ECG manifestations of myocardial 

ischemia. 

15.  Which one of the following animals is called the 

ship of the Desert?     

 (a) Tiger (b) Donkey 

 (c) Camel (d) Horse 

Ans. (c) : Camel is also known as the ship of the Desert. 

The reason behind this name of given to the Camel is 

that it is only the means of transport since ancient time 

and the body of camel is properly adopted to the hot and 

dry conditions in the deserts.    

16.  Which process comes under a child expected to 

learn directly from nature through personal 

experiences? 

 (a) Pragmatism (b) Realism 

 (c) Idealism (d) Naturalism 

Ans. (d) : • Naturalism in education stands for the 

doctrine of "follow nature" in education. It wants all 

education to be in strict conformity with the nature of 

the child. 

• It stands for complete freedom to be given to the child 

in learning. He is to be left alone, absolutely free to 

adjust them in the social context. 

17.  What information the nurse should consider 

while collecting the history of a child with 

suspected rheumatic fever? 

 (a) A fever that started 2 days ago 

 (b) Vomiting for 2 days 

 (c) Lack of interest in food 

 (d) A recent episode of pharyngitis 
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Ans. (d): The information of the nurse should consider 

while collecting the history of a child with suspected 

rheumatic fever a recent episode of pharyngitis. 

18.  The storage form of carbohydrates in animals 

is: 

 (a) Starch (b) Glycogen 

 (c) Glucose (d) Heparin 

Ans. (b) : Plants store carbohydrates in form of 

polysaccharides called starch while animals store 

carbohydrates as the molecule glycogen. 

19.  Paedophilia is a form of : 

 (a) Child sexual abuse (b) Physical abuse 

 (c) Verbal abuse (d) Mental abuse 

Ans. (a) : Paedophilia–It is a psychiatric disorder in 

which an adult or older adolescent experiences a 

primary or exclusive sexual attraction to prepubescent 

children. 

20.  The arterial blood gas (ABG) analysis report 

shows that a decreased bicarbonate level and 

pH value denote : 

 (a) Respiratory Acidosis (b) Metabolic Acidosis 

 (c) Respiratory Alkalosis (d) Metabolic Alkalosis 

Ans. (b) : Arterial blood gases (ABGs) is a commonly 

used diagnostic tool to evaluate the partial pressures of 

gas in blood and acid-base content. 

Understanding and use of blood gas analysis enable 

providers to interpret respiratory, circulatory, and 

metabolic disorders. 

21.  The chabahar port, which is strategically 

important for India, is located in which 

country?     

 (a) Malaysia  (b) Djibouti 

 (c) China (d) Iran 

Ans. (d) : Chabahar part is located in Iran, this port, is 

strategically important for India, located in south 

eastern Iran, on the gulf of Oman. 

22.  Where is the Jallianwala Bagh situated?   

 (a) Amritsar  (b) Surat  

 (c) Kolkata (d) Lucknow 

Ans. (a) : Jalliawala Bagh is located in Amritsar, 

Punjab. It is a place of historical garden and a memorial 

of national importance. Jalliawala Bagh massacre, took 

place on 13 April 1919, when a British Brigadier 

general Dyer ordered to fire at pro-independence 

activists gathered there for the protest against Rowlett 

Act and the arrest of pro-independence activists 

Saifuddin Kitchlew and Satyapal.  

23.  Isotope of Cobalt is used in the treatment for 

which of the following diseases? 

 (a) Anaemia (b) Cancer 

 (c) Goitre (d) AIDS 

Ans. (b): • Cobalt-60, a radioactive isotope of cobalt 

used in industry and medicine. 

• Cobalt-60 is the longest-lived isotope of cobalt, with a 

half-life of 5.27 years. 

• It is produced by irradiating the stable isotope cobalt-

59 with neutrons in a nuclear reactor. 

• Cobalt-60 is used in the inspection of materials to 

reveal internal structure, flaws, or foreign objects and in 

the sterilization of food. 

• In medicine, it is used to treat cancer and to sterilize 

medical equipment. 

Hence, we can conclude that the isotope of cobalt is 

used in the treatment of Cancer. 

24.  The relationship between two or more 

variables is called       

 (a) Type I error (b) Correlation  

 (c) Hypothesis (d) Research 

Ans. (b) : The statistical relationship between two or 

more variables is called Correlation Meaning of 

Correlation between two variables is that in any state 

value of one variable may be associated with another 

variable.    

25.  What percentage does burns of genitalia 

constitutes by the rule of nines? 

 (a) 21% (b) 1% 

 (c) 18% (d) 9% 

Ans. (b) : The rule of nines assigns a percentage that's 

either nine or a multiple of nine to determine how much 

body surface area is damaged. For adults, the rule of 

nines is: 

Body part Percentage 

Arm (including the hand) 9 percent each 

Anterior trunk (front of 

the body) 

18 percent 

Genitalia 1 percent 

Head and neck  9 percent 

Legs (including the feet) 18 percent each 

Posterior trunk (back of 

the body) 

18 percent 

26.  The period between exposure to infection and 

the appearance of first symptoms is called : 

 (a) Latent period (b) Incubation period 

 (c) Window period (d) Exposure period 

Ans. (b) : Incubation Period–Time interval between 

initial contact with an infectious agent and appearance 

of the first sign or symptom of disease in question. 

Latent Period–The period between exposure and the 

onset of the period of communicability which may be 

shorter or longer than incubation period. 

                             3 / 11



 

RRB Staff Nurse Exam. 2019 19 YCT 

27.  The surgical removal of the entire contents of 

the orbit, including the eye balls and eyelids is : 

 (a) Evisceration (b) Enucleation 

 (c) Exenteration (d) Laser surgery 

Ans. (c) : An orbital exenteration refers to the surgical 

removal of the eye ball and the surrounding tissues, 

these including the eyelids (the extent depending on the 

disease being treated) and the muscles, nerves and fatty 

tissue adjacent the eye. 

28.  What is defined as the rate of doing work or 

the rate of transfer of energy ?    

 (a) Pressure  (b) Power 

 (c) Force (d) Potential 

Ans. (b) : Rate of doing work or the rate of transfer of 

energy is known as power. 

Power is represented by the letter P, and  

Work done (w)
Power,  P =

Time (t)
 

or 
W

P
t

=  

Unit of power is joule/second or watt. 

29.  Two bells ring at intervals of 51 second and 62 

seconds. If they both ring at 10 O'clok in the 

morning together, after how many seconds will 

they ring together again?     

 (a) 3172 (b) 3152 

 (c) 3162 (d) 3182 

Ans. (c) : Time interval of first bell = 51 Second 

Time interval of ringing of second bell = 62 Second 

Let they both rang together after x Second,  

∴ x = L.C. M of 51 and 62 

∴ x = 3162   

30.  Which cells are that takes part in innate 

immunity by killing virus-infected cells? 

 (a) Macrophages (b) T-cells 

 (c) NK-cells (d) Neutrophils 

Ans. (c) : Cytotoxic T lymphocytes, natural Killer (NK) 

cells and antiviral macrophages can recognize and kill 

virus-infected cells. Helper T cells can recognize virus 

infected cells and produce a number of important 

cytokines. 

Natural killer cells, also known as NK cells or large 

granular lymphocytes (LGL), are a type of cytotoxic 

lymphocyte critical to the innate immune system. 

31.  An accumulation of blood in the intrapleural 

space is : 

 (a) Chylothorax 

 (b) Tension pneumothorax 

 (c) Pneumothorax 

 (d) Hemothorax 

Ans. (d) : Hemothorax is a collection of blood in the 

space between the chest wall and the lung. This area 

where blood can pool is known as the pleural cavity. 

The buildup of the volume of blood in this space can 

eventually cause your lung to collapse as the blood 

pushes on the outside of lung. 

32.  The most common hospital acquired infection 

is: 

 (a) Digestive system (b) Kidney 

 (c) Bladder (d) Respiratory 

Ans. (d) : The five most common Hospital Acquired 

Infection (HAIs) are respiratory tract infections 

(pneumonia), surgical site infection, sepsis/bacteremia, 

clostridium difficile infections (CDIs), Urinary tract 

infections. 

33.  The role of a nurse in protecting the patient's 

human and legal rights is that of a : 

 (a) Patient Care Giver (b) Communicator 

 (c) Educator (d) Patient Advocate 

Ans. (d) : The role of a nurse in protecting the patient's 

human and legal rights is that of a patient advocate.A 

patient advocate helps patients communicate with their 

health care providers. So they get the information they 

need to make decisions about their health care. Patient 

advocates may also help patient set up appointments for 

doctor visit and medical tests and get financial,legal and 

social support. 

34.  A group of ocular conditions characterized by 

optic nerve damage, increased intra-ocular 

pressure and associated vision loss is seen in 

patients with : 

 (a) Glaucoma (b) Corneal dystrophies 

 (c) Cataract (d) Keratoconus 

Ans. (a) : Glaucoma is a group of eye conditions that 

damage the optic nerve, the health of which is vital for 

good vision. This damage is often caused by an 

abnormally high pressure in your eye. Glaucoma is one 

of the leading causes of blindness for people over the 

age of 60. 

35.  Psychotherapeutic use of movement is called : 

 (a) Music therapy (b) Dance therapy 

 (c) Recreational therapy (d) Relaxation therapy 

Ans. (b) : Dance/Movement Therapy (DMT) is defined 

by the American Dance Therapy Association (ADTA) 

as the Psychotherapeutic use of movement to promote 

emotional, social, cognitive, and Physical integration of 

the individual, for the purpose of improving health and 

well-being. 

36.  The drug used for induction of labour is : 

 (a) Ergometrine (b) Oxytocin 

 (c) Progesterone (d) Methergine 
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Ans. (b) : Oxytocin is a medicine given through your 

veins (IV or intravenous) to either start your 

contractions or make them stronger. A small amount 

enters your body through the vein at a steady rate. The 

dose may be slowly increased as needed. 

37.  The fifth Vital sign is : 

 (a) Mean arterial pressure(b) ABG analysis 

 (c) SaO2 (d) Pain 

Ans. (d) : Accreditation on Health care organizations 

(ICAHO) has declared that pain is an indicator of 

quality of care and is considered as the fifth vital sign 

and must be measured along with existing vital signs, 

temperature, pulse, respiration, saturation, and blood 

pressure. 

38.  An exact written report of the conversation 

between the nurse and the patient is : 

 (a) Process report (b) Process record 

 (c) Non-verbal record (d) Nurse record 

Ans. (b) : Process recording is a written account 

recording of all that transpired, during and immediately 

following the nurse patient interaction. It is recording of 

the conversation during the interaction or the interview 

between nurse and the patient in the Psychiatric setup 

with the nurse inference. 

39.  By selling a CPU for Rs. 7015, a man makes a 

profit of 15%. At what price should he sell it to 

make a profit of 25% ? (in `)    

 (a) 7625 (b) 7525 

 (c) 7825 (d) 7725 

Ans. (a) : Cost price of C.P.U 
7015 100

100 15

×
=

+
 

= Rs 6100 

∴ for the profit of 25% net cost of C. P. U 

( )6100 100 25

100

× +
=  

= 7625 

40.  The innermost layer of the heart is called : 

 (a)  Myocardium 

 (b) Visceral pericardium 

 (c) Endocardium 

 (d) Pericardium 

Ans. (c) : The endocardium is a thin, smooth tissue that 

makes up the lining of the chambers and valves of the 

heart. The innermost layer of the heart's walls, it serves 

as a barrier between cardiac muscles and the blood 

stream and contains necessary blood vessels. 

41.  During the implementation phase of a nursing 

process, a nurse needs to be competent in 

which of the following skills? 

 (a) Cognitive skills (b) Interpersonal skills 

 (c) Psychomotor skills (d) All of the above 

Ans. (d) : During the implementation phase of a nursing 

process a nurse needs to be competent in the following 

skills : 

(1) Cognitive Skills 

(2) Interpersonal Skills 

(3) Psychomotor Skills. 

42.  Which of the following is transmitted by 

rodents? 

 (a) Hepatitis-A virus (b) Polio virus 

 (c) Norwalk virus (d) Ebola virus 

Ans. (d) : Ebola is one of the world's most virulent 

diseases, though rodent species such as guinea pig, rats 

and mice are not normally susceptible to it.  

However, through repeated infection of a host animal, 

Ebola virus strains can be generated that replicate and 

cause disease within new host rodent species. 

43.  Which mode of inheritance is found in cystic 

fibrosis? 

 (a) Autosomal recessive 

 (b) Autosomal dominant 

 (c) Multifactorial inheritance 

 (d) X-linked recessive 

Ans. (a) : Cystic fibrosis is inherited in an autosomal 

recessive pattern, which means both copies of the gene 

in each cell have mutations. The parents of an 

individual with an autosomal recessive condition each 

carry one copy of the mutated gene, but they typically 

do not show signs and symptoms of the condition. 

44.  Which is a perception disorder? 

 (a) Delusion (b) Apathy 

 (c) Hallucination (d) Obsession 

Ans. (c) : Hallucinogen persisting perception disorder 

(HPPD) is a Chronic and non-psychotic disorder in 

which a person experiences apparent lasting or 

persistent visual hallucinations or perceptual distortions 

after a previous hallucinogenic drug experience, usually 

lacking the same feelings of intoxication or mental 

alteration. 

45.  Which is the most important drug in the 

treatment of organophosphate poisoning? 

 (a) Diazepam (b) N-acetylcysteine 

 (c) Adrenaline (d) Atropine sulfate 

Ans. (d) : The mainstays of medical therapy in 

organophosphate (op) Poisoning include atropine, 

pralidoxime (2-PAM) and benzodiazepines (eg. 

diazepam). Initial management must focus on adequate 

use of atropine. Optimizing oxygenation prier to the use 

of atropine is recommended to minimize the potential 

for dysrhythmias.  

46.  The overall plan or blueprint for answering the 

research question is called : 

 (a) Research design (b) Hypotheses 

 (c) Sample (d) Analysis 

                             5 / 11



 

RRB Staff Nurse Exam. 2019 21 YCT 

Ans. (a): The research design refers to the overall 

strategy that you choose to integrate the different 

components of the study in a coherent and logical way, 

thereby, ensuring you will effectively address the 

research problem; it constitutes the blueprint for the 

collection, measurement and analysis of data. 

47.  Which one of the following entities is NOT 

included in COPD? 

 (a) Asthma (b) Chronic bronchitis 

 (c) Emphysema (d) Pneumonia 

Ans. (d) : Pneumonia is an infection that inflames the 

air sacs in one or both lungs. The air sacs may fill with 

fluid or pus (Purulent material) causing cough with 

phlegm or pus. Fever, chills and difficulty breathing. A 

variety of organisms, including bacteria, viruses and 

fungi can cause pneumonia.   

48.  Vaginal acidity is maintained by : 

 (a) Streptococcus (b) Doderlein bacilli 

 (c) Mucobacilli (d) Acidobacillus 

Ans. (b) : A healthy vagina needs to have certain types 

of the bacteria, lactobacillus, which produce high levels 

of lactic acid. The study found this lacto bacillus make 

the vagina acidic, which is important in helping to 

prevent a condition known as bacterial vaginosis (BV). 

Doderlein's bacillus is a large, Gram-positive bacterium 

found in vaginal secretions. It is named after the 

German obstetrician and gynecologist, Albert 

Doderlein, who is regarded as one of the founders of 

gynecological bacteriology. 

49.  The primary purpose of administering 

corticosteroids to the child with nephrotic 

syndrome is : 

 (a) To increase blood pressure 

 (b) To decrease proteinuria 

 (c) To prevent infection 

 (d) To reduce inflammation 

Ans. (b) : The primary purpose of administering 

corticosteroids to the child with nephrotic syndrome is 

to decrease proteinuria. Nephrotic syndrome is a 

condition where the kidneys leak protein from the blood 

into the urine. When it is untreated, children can often 

die from infections. Most children, with nephrotic 

syndrome, respond to corticosteroid drugs reducing the 

risk of serious infection. 

50.  Atropine sulfate is administered before 

Electroconvulsive therapy : 

 (a) To relax muscles 

 (b) To alleviate anxiety 

 (c) As a short acting anesthetic 

 (d) To reduce secretions 

Ans. (d): Atropine treatment before electroconvulsive 

therapy (ECT) is used for two main reasons:  

(a) To prevent transient post-ictal bradyarrhythmias due 

to excessive vagal tone; 

(b) To minimize secretions within the respiratory tract. 

51.  Expected date of delivery is calculated by 

using: 

 (a) Wood's formula (b) Naegele's formula 

 (c) Robert's formula (d) Johnson's formula 

Ans. (b) : Naegele's formula : Add seven days to the 

first day of your LMP and then subtract three months. 

For example if your LMP was November 1, 2017 : Add 

seven days (November 8, 2017). subtract three months 

(August 8, 2017). 

52.  Which is an example of a vector? 

 (a) Mice (b) Ticks 

 (c) Squirrels (d) Tapeworms 

Ans. (b) : Vector–In medicine, a carrier of disease or of 

medication, for example, in malaria a mosquito is the 

vector that carries and transfers the infectious agent. In 

molecular biology, a vector may be a virus or a plasmid 

that carries a piece of foreign DNA to a host cell. The 

vector-borne diseases are human illness (caused by 

parasites, viruses and bacteria), malaria, dengue, 

schistosomiasis, human African trypanosomiasis, 

leishmaniasis, Chagas disease, yellow fever, Japanese 

encephalitis and onchoceruasis. 

53.  Leprosy is also called as : 

 (a) Psoriasis (b) Scabies 

 (c) Hansen's disease (d) Darier's disease 

Ans. (c) : Leprosy (Also known as Hansen's disease) is 

a chronic infectious disease caused by a bacillus, 

Mycobacterium leprae. Mycobacterium leprosy 

multiplies slowly and the incubation period of the 

disease, on average, is 5 years. Symptoms may occur 

within 1 year but can also take as long as 20 years or 

even more. Leprosy mainly affects the skin, the 

peripheral nerves, mucosa of the upper respiratory tract 

and the eyes. The disease is curable with multidrug 

therapy. 

54.  Epigraphy is the study of : 

 (a) Geography (b) Inscriptions 

 (c) Physics (d) Science 

Ans. (b) : Epigraphy is the study of inscriptions or 

epigraphs, as writing; it is the science of identifying 

graphemes, clarifying their meanings, classifying their 

uses according to dates and cultural contexts and 

drawing conclusions about the writing and the writers. 

A person using the methods of epigraphy is called an 

epigrapher or epigraphist. 
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55.  The fight-or-flight response is characterized by 

the following EXCEPT: 

 (a) Increase in oxygen intake 

 (b) Increase in BP 

 (c) Decrease in cardiac output 

 (d) Mental alertness 

Ans. (c) : When person experiences a threatening or 

stressful situation, the fight or flight response occurs. 

This response evolved as a survival mechanism, 

enabling animals and humans to react quickly to life-

threatening situations. 

56.  Which method is used to separate butter from 

cream?      

 (a) Titration  (b) Centrifugation  

 (c) Filtration  (d) Amalgamation  

Ans. (b) : Butter is separated from the cream with the 

help of centrifugation method. In this method, denser 

particles of the cream goes to the bottom while lighter 

fat particles (or butter particles) move to the top and 

aggregate to form butter, which can, in this form be 

reported from the cream easily.     

57.  Increased glucose tolerance is seen in : 

 (a) Hypopituitarism (b) Hyperinsulinism 

 (c) Hypothyroidism (d) All of the above 

Ans. (d) : Increased glucose tolerance is seen in 

following : 

(1) Hypopituitarism (b) Hyperinsulinism 

(3) Hypothyroidism 

Hypopituitarism–It is a rare disorder in which our 

pituitary gland fails to produce one or more 

hormones or doesn't produce enough hormones. 

Hyperinsulinism–It refers to an above normal level of 

insulin in the blood of a person or animal. 

Hypothyroidism–A condition in which the thyroid 

gland doesn't produce enough thyroid hormone. 

58.  The sterilization of glasswares is done through: 

 (a) Fumigation (b) Disinfection 

 (c) Dry heat (d) Moist heat 

Ans. (c) : The most effective and used method of 

sterilization of  glassware is dry heat treatment using 

hot air oven. On exposing the glassware to dry heat the 

inhibition in growth occurs due to denaturation of 

proteins and oxidation of biomolecules.  

59.  Sociology helps nurses to know about : 

 (a) Personal life (b) Social life 

 (c) Community (d) Politics 

Ans. (b) : The study of sociology is important for 

nurses due to the following reasons– 

(i) It helps the nurses to understand the behaviour 
conflicts, inter personal relationship (IPR), hierarchy, 
groups. 
(ii) And adaptation of different people working in 
hospitals. 

(iii) Through sociology, the nurse gets information 
about the socio cultural life of the patient to study the 

structure of family, community and society. 

60.  What is the number of chromosomes present in 

the gametes (egg and sperm) of human beings? 

 (a) No chromosomes 

 (b) One set of chromosomes 

 (c) 22 pairs of chromosomes 

 (d) Three set of chromosomes 

Ans. (b) : Human cells that contain one set of 23 
chromosomes are called gametes, or sex cells; these 
eggs and sperm are designated n or haploid. 

The letter n is used to represent a single set of 
chromosomes; therefore a diploid organism is 
designated 2n. 

61.  Which of the following enzymes is not involved 

in the digestion of carbohydrates? 

 (a) Lactase (b) Sucrase 

 (c) Amylase (d) Lipase 

Ans. (d) : A lipase are a family of enzymes that 
catalyzes the hydrolysis of fats. Some lipases display 
broad substrate scope including esters of cholesterol, 
phospholipids and of lipid-soluble vitamins. 

62.  The legal definition of death that facilitate 

organ donation pertains to the cessation of : 

 (a) Pulse 

 (b) Respiration 

 (c) Circulatory and respiratory functions 

 (d) Functions of the brain in its entirely 

Ans. (d) : The UDDA states that "an individual who has 
sustained either irreversible cessation of circulatory and 
respiratory functions or irreversible cessation of all 
functions of the entire brain, including the brain stem, is 
dead". This definition was approved by the American 
Medical Association in 1980 and by the American bar. 

63.  Intraosseous drug administration is typically 

used for children. 

 (a) Critically ill under age 6 

 (b) Critically ill and over age 6 

 (c) Under age 6 

 (d) Over age 6 

Ans. (a) : Intraosseous drug administration is typically 
used for children, Critically ill under age 6. 

In intraosseous drug administration needle inserted into 
the bone to infuse or inject fluid and medications.It is 
non-collapsible access.Long bones are richly vasucular 

structure with dynamic circulation. 

64.  Cerebrospinal fluid is secreted by : 

 (a) Spinal cord (b) Choroid plexus 

 (c) Cerebrum (d) Cerebellum 
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